SIRIAUS IIf&IPD 3ofitlIol Ud Ufdrgiur ufswe, il
(2023- 2024)

ufergol usst ust
Model Question Paper

(MCQ BASED QUESTIONS)

(a'gﬁar«cmr ITERT 72)

Class - 11 Subject — Mathematics F.M.-40 Time — 1Hour
(®ET—11) (fasa—rfora) (qoTi®—40) (Ta—1 =)
INSTRUCTIONS / fdr:

1. There are 40 Multiple Choice Questions in this Part.
I AT H G 40 TEAGAT U9 ¢ |
2. All questions are compulsory. Each question carries 1 mark.

QT go i & IR <7 AR B | UR-d U BT A 1 b iR 2

3. Four options are given for each question, choose one of the correct options.

IJP U & IR fAbey QU TV & 390 | U 8! fddbed & =+ HIfTY |

4. There is no negative marking for any wrong answer.

Td SR & o0 BIs 3 =8l hlc ST |

1. If Ais the set of vowels of English alphabet, then the total number of proper
subsets of A is
e 3USH IUMTT & ¥Rl BT Tz A 7, I A & Jarf  Iudgeadl Bl R
SECHE
(a) 32 (b) 25 (c) 30 (d) 31

2. Which of the following is incorrect:

f=faRad § 9 &9 Tad
(a)(AuB) A" UB’ (b)(ANB) +A'nB’
(c)ANnA" =¢ (dANB+#BNA

SIRAUS IISID 3loRiellel ud Ufdrsiur ufds, 2l [t w3tstn] [3D1 : 2023- 2024] Page 1 of 7



In the given Venn diagram, find set (A — B) U (B — A)
& U 9 g | ¥ (A — B) U (B — A) & 9 @

(@) {3,4,7} (b) {3,4,5,6,7}
(c){2,3,4,5,6,7,8} (d){2,3,4,7,8}

4. Set-builder form of the interval [-2,7] is
RIS [—2, 7] BT OT-UHCIHIOT &Y B

@{x:xeR-2<x<7} b){x:xeR-2<x<7}
{x:xeR-2<x<7} d{x:xeR-2<x<7}

5. If(x+3,5) = (6,2x + y), then values of x and y are respectively
afe (x4 3,5) = (6,2x + y) A x AR y BT 7 HAM &

(a) —3,11 (b) 3,1 (c) 3,—1 (d) 2,1
. . 1 .
6. The domain of the function f(x) = 3 7 is
1 )
Weld = Dl UTd
Fx) = g 1 0 B

(@) 3<x<3 (b)-3<x<3 ()-9<x<9 (d)-9<x<9
7. The range of the greatest integer function f(x) = [x] is

HEH QU Berd f(x) = [x] BT )9 ©

(a) R (b) Z ()N (d){-1,0,1}
8. Radian measure of the angle 40°30’ is

BT 40°30" Bl ST AT B

(a) 9m/40 (b) m/40 (c) 2m/9 (d)m
9. The value of cos(—15m/4)

cos(—15m/4) 719 &

@) 3 b)— = (0 02
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10.

11.

12.

13.

14.

15.

16.

17.

18.

Value of 2sin15°cos75° is

2sin15°cos75° &1 A9 8

2+/3 V3 2—J3
(@) = (b) 1 ()5 () =5~
1—-cos 24 . %\r
Trcos2A is equal to (TR &)
(a)tan A (b) cot A (c)tan(4/2) (d)cot(4/2)

(—=5i) (%i) is equal to (SRTER B)
(a) 0 + i (b)§+0i (c) 0 + 2i (d)§+0i

Argument of the complex numberz =1+ 1iis

g AT z =1+ i BT BIUND 2

@ 7 (b) ()7 ()

Solution-set of the inequality —12 < 3x — 5 is
JMAMHT —12 < 3x — 5 & oI &
(@) (=,=7/3)  (b) (=,7/3)  (c)(7/3,) (d) (=7/3, )

If x is a real number and |x| < 3, then

afe x TH IRAAS AT § qAT x| < 3,74
(a) x =3 b)—3<x<3 ()x<-3 (d)—3<x <3

The value of 4C3 is equal to
“C, 1 A aRTER R
(a) 12 (b) 6 (c) 4 (d) 1

How many 2-digits number can be formed from the digits 1, 2 3 and 4 when
repetition of digits is not allowed?

JFhb 1, 2, 3 3R 4 I FaN 2 JHT TN g8 o Ihdl 8, dG (bl Bl
geRIghT @1 SrgAfr T B

(a) 12 (b) 6 (c) 4 (d)1

16 16
If 2°C. ="C 4,

afy 16Cr=16Cr+2FﬁrE5THTF[%\'

then the value of r is
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19.

20.

21.

22.

23.

24.

25.

26.

(a) 8 (b) 6 (c)O (d) 7

The number of terms in the expansion of {(1 + x)*}° is

{(1+x)*)° & fodR & Ul & e 8l

(a) 25 (b) 20 (c) 21 (d) 24

10
Value of Z 2" 10Cr is
r=0

10
z 2r 10C @1 w2
r=0

(a) 210 (b) 310 (c) 3 x 10! (d) o

If a;, = 3,a, = 3a,_1 + 2 foralln > 1, then a; is equal to

AT qy =3 TN I n>1D W a, = 3a,_, +2, A a; WER B
(a) 33 (b) 27 (c) 33 (d) 35

If in a G.P., the 3" term is 24 and the 6™ term is 192, then 1% term is equal to

gfe fHe G.P &1 3df Ug 24 ® TIT 6df UG 192 7, Al USel U aRI&R 2

(a) 2 (b) 8 (c) 6 (d) O

If A.M. of two numbers 3 and x (x > 0) is 15, then their G.M. is equal to
afe &7 Famsil 3 3R x (x > 0) BT A.M. 15 &, d 3961 G.M. SRR
(a) 27 (b) 9 (c) 81 (d) 45

The slope of a line passing through the points (—3,2) and (1,4)

fa=gatt (—3,2) 3R (1,4) ¥ oRA dTell T & &l ©
(a) 1/2 (b) 2 (c) —1/2 (d) —2

The angle between thelines2x —y+3 =0and x+2y+3 =0is
RN 2x—y+3=03Rx+2y+3=0 & 4= & PBIT B
(a) 90° (b) 60° (c) 45 (d) 30°

If the coordinates of the middle point of the portion of a line intercepted between
the coordinate axes is (3, 2), then the equation of the line will be

gfe feene el & &9 JdESd X1 & 91 & w2y fdg & Fewie (3,2) 8,

T BT FHIHRUT BT
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27.

28.

29.

30.

31.

32.

33.

(@) 2x + 3y =12 (b)3x + 2y =12
(c)4x —3y =6 (d)5x — 2y =10

The distance of the point (3, —=5) from the line3x —4y — 26 =0 is

g (3,-5) P W 3x—4y—26=0A 0 &

(a) 3 (b) 3/25 (c)3/5 (d) 4/5

The radius of the circle x? + y?2 + 8x + 10y —8 = 0 is

qd x2+y2+8x+10y—8=0% = 2

(a) 49 (b) V33 (c) 7 (d) none of these
For the parabola y? = —8x, the focus and length of latus rectum are respectively
(a)(2,0)and 8 (b) (—=2,0) and 2 (c) (—2,0)and 8 (d) (0,—2)and 8
WRIT y? = —8x HT MY IR A1fer Sfar &1 <iqrs HAeT: ©

(a) (2, 0) 3R 8 (b) (—2,0) 3R 2 (c) (=2,0)3R8 (d) (0,—2)3R8
The vertices of an ellipse are (5, 0) and its foci are (+4, 0). The equation of the
eliipse is

el <eigd & o (£5,0) Td 1MW (4+4,0) | 39 g BT TR ©

2 2 2 2 2 2 2 2

@=+%=1 m>=+L=1 O=+X=1 (=+L=1
25 9 9 25 25 16 16 25
2 y2
The eccentricity of the hyperbola y e 1is
x2 yZ
fTIRaeT 5 T 1% Sh=dl B
(a)4/3 (b) 3/4 (c)5 (d)5/3
The point (—1, —2,—3) lies in the
(a) First Octant (b) Second Octant
(c) Seventh Octant (d) Eight Octant
g (-1,-2,-3) _____#%
(a) T2H areef (b) fgiar areerer
(c) AT T2 (d) 3r<H 3recTer

If the extremities of the diagonal of a square are (1,—2,3) and (2,—3,5), then
the length of the side is

I fedl ot & el & eR 95 (1,-2,3) 3R (2,—3,5) &, @ 4ol & s
&
(a) V6 (b) V3 (c) V5 (d) 7
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34. If f(x) = sin2x, then f'(1t/6) is equal to
afE f(x) = sin2x, ar f/(w/6) BT AF BN

(a) 0 (b) 1 (c) 1/2 (d) V3/2
»15_
35. lim ( ;_ 11> is (2)
(@) 0 (b) 15 (c) 14 (d) 1
COSXx
36. Derivative of — with respect to x is
+sinx
_ 1 -1
(a) —(1 +sinx)? (b) Tooinx (c) Tooinx (d) none of these
Cosfx BT ATDBTT x b AU BT
1+sinx
_ 1 1 . .
(@) —=(1 +sinx)? (b) . (c) T (d) 398 & ®Ig T8

37. If the variance of a given data be 144, then standard deviation of that data will

be

(a) 20736 (b) 12 (c)o (d) none of these
Iy fodr o T 3ifhs T URYT 144 2 Al SUBT Fd faaol= SR

(a) 20736 (b) 12 (c)O (d) 398 & ®Ig T8

38. Inaleap year the probability of having 53 Sundays or 53 Monday is

TP o7 99 H 53 YfIIR AT 53 AHIR B9 BT UTRihar 2

@) 2 (b) 2 (€)= ()2
@ 7 7 ¢ 7 7
39. The probability of getting exactly two tails in tossing a coin thrice is

fredl Rigd @1 3 IR IBTE W 3F dT IR T8 UM & el @
(a) 3/8 (b) 3/4 (c) 1/8 (d) 3/2

40. The Probability of getting a total of 10 in a single throw of two dice is
ST U BT T ATJ IS8T TR ANTHA 10 3 DI UIRIHdr 8

(a) 1/9 (b) 1/6 (c) 1/12 (d) 5/36
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SIRIAUS IIf&IPD 3ofitlIol Ud Ufdrgiur ufswe, il

(2023- 2024)

MODEL QUESTION PAPER / ufercof uest ust

Answer - Key

Class - 11 / 431 —11

Q.N. 1 2 3 4 5 6 7 8 9 10
Key d b b a C b b a C d
Q.N. 11 12 13 14 15 16 17 18 19 20
Key a d d d b c a d c b
QN. | 21 22 23 24 25 26 27 28 29 30
Key d C b a a a c C C a
Q.N. | 31 32 33 34 35 36 37 38 39 40
Key d C b b b C b b a C
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